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2. 14/153 MIAI=E == MB{USDA 8E€ 12&

(9] WTHE, %)
ESPNITE=T E = N =l -
TF sew S8 shuw | MuE
14/15 8(A) 1267.43 1253.13 147,24 22211 15.9
M| Al 14/15.7(B) 1261.17 1250.87 145,84 219.43 15.7
13/14(C) 1274.30 1236,13 158.35 207.43 14.9
AMEZE SLUE(AB) 0.5 0.2 1.0 1.2
ZUEAC) 0.5 1.4 7.0 7.1
14/15 8(A) 372.86 310.97 48.90 49.06 13.6
o = 14/15.7(B) 367.86 308.83 48.01 49.12 13.8
13/14(C) 360.43 309.05 54.32 32.80 9.0
AMEZE EUSAB) 1.4 0.7 1.9 0.1
SLUEAC) 0.9 0.6 -10.0 49,6
14/15 8(A) 985.39 968.67 115.86 187.82 17.3
M| Al 14/15.7(B) 980.96 966.33 115,22 188.05 17.4
13/14(C) 984,37 951,43 125,47 171.09 15.9
s F F ZU=AB) 0.5 0.2 0.6 0.1
ELE(A/Q) 0.1 1.8 7.7 9.8
14/15 8(A) 356.43 297.45 43.82 45.93 13.5
o = 14/15.7(B) 352.06 295.54 43.18 45,76 13.5
13/14(C) 353.72 296,69 48.77 30,01 8.7
2 F F EZE(A/B) 1.2 0.6 15 0.4
SAUEACQ) 0.8 0.3 -10.1 53.0
14/15 8(A) 716.09 706,79 151.80 192,96 225
Al A 14/15.7(B) 705,17 699.92 151,61 189,54 223
13/14(C) 714,07 706.05 165.27 183.66 21.1
@ oY SUEAB) 15 1.0 0.1 1.8
ZUEAC) 0.3 0.1 8.2 5.1
14/15 8(A) 304,69 283.40 113,32 85.62 21.6
M| Al 14/15.7(B) 304,79 283 31 113,29 85.31 215
13/14(C) 283.95 269.80 112.73 67.09 17.5
CH e EUSAB) 0.0 0.0 0.0 0.4
ZLUEAC) 73 5.0 0.5 27.6
14/15 8(A) 103.85 50.78 45.59 11.71 122
o =2 14/15.7(B) 103,42 50.78 45,59 11,28 11.7
13/14(C) 89.51 47.06 44,63 3.82 42
CH e SZEAB) 0.4 0.0 0.0 3.8
ZLEAC0) 16,0 7.9 2.2 206.5
14/15 8(A) 197.78 194,28 64,42 10,00 3.9
M A 14/15.7(B) 198.07 194.57 65.00 9.72 3.7
13/14(C) 189.70 184,93 61.45 10,20 4.1
of & g EZE(A/B) 0.1 0.1 0.9 2.9
SAUEAC) 4.3 5.1 4.8 2.0
14/15 8(A) 37.82 27.31 10,66 0.27 0.7
oj = 14/157(B) 37.82 27.31 10,66 0.27 0.7
13/14(C) 37.20 26.85 10,57 0.27 0.7
oy = g SUEAB) 0.0 0.0 0.0 0.0
SLUEAC) 1.7 1.7 0.9 0.0
56 QERELES



=H MEHUE 7

MA AlRSE TaE
(] : wighe=
=
14/15.8(A) 13/14(B) 12/13(C) AB AC
J = X 1 207.43 169.26 168,54 122,55 123,07
A o 1,267.81 1,274.30 1,137.26 99.49 111.48
= 2 145.04 151.13 128,76 95.97 112.64
£ 3 = 1,620.28 1,504.69 1,434.56 101.60 112,95
=2 W 2 H 1,253.13 1,236.13 1,136.54 101.38 110,26
A B2 2 752.78 737.98 609.31 102,01 112.47
7| E} 500.35 498.15 467.23 100,44 107.09
& = 147.24 158.35 122,88 92,98 119.82
xE £ 2 1,400,37 1,394.48 1,259.42 100,42 111,19
J % o3 22211 207.43 169.26 107,08 131,22
b I - 15.86% 14.88% 13.44%
012 AIRZE 4248
(F9] © WQEE
=d =
14/15.8(A) 13/14(B) 12/13(C) AB AC
J = X 1 32.80 23.53 27.82 139,40 117,90
A o 372.86 369.43 286,01 100,93 130.37
T 2 3.26 3,21 6.64 101.56 49.10
2 3 = 408,92 380.86 398.14 107.37 102,71
= W & | 310,97 309.05 276.23 100,62 112.58
AF B2 139,12 137.11 115,34 101.47 120.62
7| E} 171.85 171.94 160.89 99.95 106,81
& = 48.90 54.32 20,70 90.02 236.23
zE F 2 359.87 348,56 350.00 103,24 102.82
=R ! 49,06 32.80 23,53 149,57 208.50
M o1 g 13.63% 9.27% 13.75%
EU AIESE saie
(] : k=
SU=E
14/15 8(A) 13/14(B) 12/13(C) AB AC
22 % 2 13.55 12.85 15.58 105.45 86.97
A4 o 155.89 158.16 145.89 98.56 106.85
ES ol 1131 15.81 11.84 71.54 95.52
5 3 = 180.75 186.82 177.76 96.75 101.68
= LW = H 157.87 164.50 153.10 95.97 103.12
A28 116.05 123,08 113.68 94,29 102.08
7| E} 41.82 41.42 38.20 100,97 109.48
= = 8.11 8.78 7.36 92.37 110,19
E R ) 165,98 173.28 157.65 95.79 105,28
Jl % ® 1 14,77 13.55 12,85 109.00 114,94
b B 8.90% 7.82% 12.75%
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MA S5 a2
(] : wighe=
=
14/15.8(A) 13/14(B) 12/13(C) AB AC
J = X 1 171,09 138.15 134.61 123,84 127.10
A o 985.39 984,37 868.76 100.10 113.42
% 9l 114,22 119.64 99.42 95.47 114,89
£ 3 = 1270.70 124216 1006.95 102.30 126.19
=2 W 2 H 968,67 951,43 865.22 101.81 111,96
AP ROB 594,42 576.29 518.72 103.15 114.59
7| E} 374.25 375.14 297.47 99.76 125.81
ES & 115.86 125,47 95.16 92,34 121,75
s F 2 1084.53 1076.90 861.57 100,71 125.88
J % o3 187.82 171.09 138,15 109.78 135.95
N o8 17.32% 15.89% 17.12%
0j2 244 A
(F9] © WQEE
=d =
14/15.8(A) 13/14(B) 12/13(C) AB AGC
J = & 2 30.01 20,86 25.12 143,86 119,47
A o 356.43 353,72 273.83 100.77 130.16
T 2| 0.76 0.89 4,06 85.39 18.72
2 3 = 387.20 375.47 348.74 103,12 111.03
= W & | 297.45 296.69 263.61 100.26 112.84
AP BRB 133.36 131.45 109.85 101.45 121.40
7| E} 164,09 165,24 125.80 99.30 130,44
ES & 43.82 48.77 18.55 89.85 236,23
E = 2 341,27 345.46 306.23 98.79 111,44
=R ! 45,93 30.01 20.86 153.05 220,18
N o8 13.46% 8.69% 13,88%
EU 244 2348
(] @ HghE
SU=E
14/15 8(A) 13/14(B) 12/13(C) AB AC
22 % 2 5.38 5.09 6.67 105.70 80.66
A4 o 67.05 63.99 58.87 104,78 113.90
& 2l 11.00 15.50 11.35 70.97 96,92
5 3 = 83.43 84.58 76.89 98.64 108,51
= LW = H 74.50 77.00 69.60 96.75 107.04
AFROB 55.50 58.50 53.00 94.87 104.72
7| E} 19.00 18.50 16.60 102,70 114.46
ES = 2.00 2.20 2.19 90,91 91,32
5 F 2 76.50 79.20 71.79 96.59 106.56
72 2 X 1 6.93 5.38 5.09 128,81 136.15
2 I 9.06% 6.79% 7.09%
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24 AU I

532 244 2348

(] : wighe=
=
14/15.8(A) 13/14(B) 12/13(C) AB AC
Jl = XN I 77.46 67.57 59.34 114,64 130,54
A 2 222.00 218.49 205,61 101,61 107.97
= 2 3.00 3.50 2.70 85.71 111,11
£ 3 = 302.46 289.56 267.65 104.46 113,01
=2 W & v 222.00 212,00 200,00 104.72 111,00
AbF B2 162.00 154,00 144,00 105,19 112,50
7| E} 60.00 58.00 56.00 103.45 107,14
& = 0.10 0.10 0.08 100.00 125.00
xE £ 2 222.10 212.10 200,08 104,71 111,01
Jl % X 1 80.36 77.46 67.57 103.74 118,93
N1 g 36,18% 36.52% 33.77%
MA A Sz 4st
(F9] © WQEE
=d =
14/15.8(A) 13/14(B) 12/13(C) AB AGC
J = X 1 183.66 175.64 197.14 104,57 93.16
A o 716,09 714.07 658.16 100,28 108,80
% ol 149,87 156,48 144,22 95,78 103.92
£z 2 2 1049.62 1046,19 999.52 100,33 105,01
= W & | 706.79 706.05 679.66 100.10 103.99
Ab B2 134.62 132.41 136.89 101,67 98.34
7| E} 572,17 573.64 542.77 99,74 105.42
== & 151.80 165.27 137.31 91.85 110.55
zE F 2 858.59 871,32 816,97 98.54 105.09
=R ! 192,96 183.66 175.64 105.06 109.86
N o8 22.47% 21.08% 21,50%
MA chset saalket
(] : k=
SU=E
14/15 8(A) 13/14(B) 12/13(C) AB AC
J = N 1 10,20 9.24 9.65 110.39 105,70
A4 2 197.78 189.70 180,95 104,26 109.30
& 2l 60.71 57.64 53,76 105.33 112,93
E 2 2 268,69 256,58 209,40 104,72 128,31
= LW = H 194.28 184.93 177.30 105.06 109.58
A28 194.28 184.93 177.30 105.06 109.58
7| E} B B ) B B
&= = 64.42 61.45 57.82 104.83 111.41
E R ) 258,70 246,38 204.45 105,00 126,53
Jl % ® 1 10,00 10.20 9.24 98.04 108,23
N3 g 3.87% 4.14% 4.52% ;
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012 CHEYt S

S =
14/15.8(A) 13/14(B) 12/13(C) AB AC

J = N 2 0,27 0.25 0.27 108,00 100,00
A o 37.82 37.20 36.17 101,67 104.56
= 2l 0.15 0.24 0.22 62.50 68.18
zE 3 = 38.24 37.69 35.83 101.46 106,73
2 oW A 27.31 26.85 26.28 101,71 103.92
A B2 2 27.31 26.85 26,28 101,71 103.92
7 E} - } ) B B
%= = 10,66 10,57 10.14 100.85 105.13
5 F 2 37.97 37.42 35,61 101,47 106,63
Jl % X 1 0,27 0.27 0.25 100,00 108,00

2 0.71% 0.72% 0.70% -

HaLE e S3AE

HiOHE

14/15.8(A) 13/14(B) 12/13(C) =l
2l =2 & 1 3.33 3.10 3.20 107.42 104.06
A o 28.57 28.50 27.31 100.25 104,61
= 2l 0.03 0.03 0.03 100,00 100,00
2 3 = 31.93 31,63 27.90 100.95 114,44
= | 15,00 14.50 14.20 103.45 105.63
AL B2 2 15,00 14,50 14,20 103.45 105.63
7 E} - N } B B
%+ = 13.80 13.80 13.24 100,00 104,23
E £ 2 28.80 28.30 25.44 101,77 113,21
=R ! 3.12 3.33 3.10 93.69 100,65

N o8 10.83% 11.77% 12.19% -

OLZHIEIL} ChEEt $TAE
() © WuHE)
s =
14/15 8(A) 13/14(B) 12/13(C) AB AC

22 % 2 3.77 3.74 2.92 100.80 129.11
A o 30.95 28.83 26,09 107.35 118.63
F 2l - - - - -
s = = 34,72 32,57 29.01 106.60 119.68
= LW = H 1.80 1.80 1.60 100.00 112,50
AF BB 1.80 1.80 1.60 100,00 112,50
7| E} B B B } B
= = 29,52 27.00 23.67 109.33 124,71
zE F =2 31.32 28.80 24,63 108,75 127.16
22 X 1 3.40 3.77 3.74 90.19 90.91

2 I 10.86% 13.09% 15.18% -

) o0 QEUERERIEY






